package reservation;
i nport voyage. *;
public class Reservation {

private int identifiant;
private Voyage voyage;
private Passager passager;

publ i c Passager getPassager() {
return passager;
}

public void setPassager(Passager passager) {
thi s. passager = passager;
}

public Voyage getVoyage() {
return voyage;
}

public void setVoyage(Voyage voyage) {
thi s. voyage = voyage;
}

public int getldentifiant() {
return this.identifiant;
}

public void setldentifiant(int val) {
this.identifiant = val;
}

public void affiche() {
Systemout. println("Reservation : " +
identifiant);
Systemout. println("Passager : " +
passager. get Non());
Systemout. println("Voyage : " +
voyage. get Depart () + "-"+ voyage. getDestination());
}

}

package voyage;

public interface Voyage {
public String getDepart();
public void setDepart(String dep);
public String getDestination();

public void setDestination(String des);

package voyage;

interface Vol

}

extends Voyage {

package voyage;

public abstract class AbstractVoyageFactory {

public abstract Voyage create();

package reservation;

public class Passager {

private int identifiant;
private String nom

public Passager() {
}

publ i c Passager(String non) {
this.nom= nom

}

public int getldentifiant() {
return identifiant;
}

public void setldentifiant(int val) {
this.identifiant = val;
}

public String getNon() {
return nom
}

public void setNom(String val) {
this.nom = val;
}

package voyage;

public class Vol I npl inplenents Vol {

private String destination;
private String depart;

public Vol Inpl () {
}

public Vol I npl (String dep, String des) {

this.depart = dep;

this.destination = des;

}

public String getDepart() {
return depart;

}

public void setDepart(String dep) {
depart = dep;

}

public String getDestination() {
return destination;
}

public void setDestination(String des) {
destination = des;
}

package voyage;

public interface TrajetRoutier extends Voyage {

}




package voyage;

public class TrajetRoutierFactory extends
Abst r act VoyageFactory {

public static TrajetRoutierFactory instance;

private TrajetRoutierFactory () {
}

public TrajetRoutier create() {
return new TrajetRoutierlnpl();

}
public static TrajetRoutierFactory getlnstance(){
if (instance == null)
i nstance = new TrajetRoutierFactory();
return instance;
}

package reservation;

i mport voyage. Traj et Routi er;
i mport voyage. Vol ;

abstract class AbstractReservationBuil der {
protected Reservation reservation;

public Reservation getReservation() {
return reservation;
}

public void createNewReservation(int val) {
reservati on = new Reservation();
reservation. setldentifiant(val);

}

public abstract void buil dReservationVol (Vol v,
Passager p);

public abstract void
bui | dReservationTraj et Routier(TrajetRoutier t,
Passager p);

package voyage;
public class TrajetRoutierlnpl inplenents TrajetRoutier {

private String destination;
private String depart;

public TrajetRoutierlnpl () {
}

public TrajetRoutierlnpl (String dep, String des) {
this.depart = dep;
this.destination = des;

}

public String getDepart() {
return depart;

}

public void setDepart(String dep) {
depart = dep;

}

public String getDestination() {
return destination;
}

public void setDestination(String des) {
destination = des;
}

package mai n;

import reservation.*;
i mport voyage. *;

public class Principal {
static ReservationBuil der builder;

public static void main(String[] args) {
bui | der = ReservationBuil der. getlnstance();

Client client = new Cient();
client.setReservationBuil der(buil der);
client.setldentifiant(10089);
client.setNom("toto");

Vol Factory vf = Vol Factory. getlnstance();
Vol v = vf.create();

v.set Depart ("Paris");

v. set Destination("Tokyo");

Passager p = new Passager("Untel");

client.constructReservationVol (12, v, p);
Reservation reservation =
client.getReservation(0);
reservation. affiche();
}







package reservation;

i mport voyage. Traj et Routi er;
i nport voyage. Vol ;

public class ReservationBuil der extends
Abst ract Reservat i onBui | der {

private static ReservationBuil der instance;
public Reservation getReservation() {

return reservation ;

public void buil dReservationVol (Vol v,
reservation. set Voyage(v);
reservation. set Passager (p);

Passager p) {

}
public void
bui | dReservationTraj et Routier(TrajetRoutier t, Passager
p) {
reservation. set Voyage(t);
reservati on. set Passager (p);
}
public static ReservationBuil der getlnstance() {
if (instance == null) {
i nstance = new ReservationBuil der();
}
return instance;
}
}

package voyage;

public class Vol Factory extends AbstractVoyageFactory {
private static Vol Factory instance;

private Vol Factory() {

}

public Vol create() {
return new Vol | mpl ();

}

public static Vol Factory getlnstance(){
if (instance == null)

i nstance = new Vol Factory();

return instance;

}

package reservation;
inport java.util.Arraylist;
public class Cient {
private String nom
private int identifiant;
private ArraylLi st <Reservation> reservations = new
Arrayli st <Reservation>();
private ReservationBuil der reservati onBuil der;

public ReservationBuil der getReservationBuilder() {
return reservationBuil der;
}

public void setReservati onBuil der (Reservati onBui | der

val) {

}

public int getldentifiant() {
return identifiant;
}

public void setldentifiant(int val) {
this.identifiant = val;
}

public String getNon() {
return nom
}

public void setNonm(String val) {
this.nom = val;
}

public void constructReservationVol (i nt nunresa,
voyage. Vol v, Passager p) {

this.reservationBuilder = val;

reservationBui |l der. creat eNewReser vati on(nunresa);
reservati onBui | der. bui | dReservationVol (v, p);

reservations. add(reservationBui |l der. get Reservation());

}

public void constructReservationTraj et Routier(int
nunr esa, voyage. TrajetRoutier t, Passager p) {

reservati onBui | der. creat eNewReservati on(nunresa);
reservationBuil der. bui | dReservati onTraj et Routier(t, p);

reservations. add(reservationBui |l der. get Reservation());

}

public Reservation getReservation(int
return reservations. get (i ndex);
}

i ndex) {




